PANEL GLIDE
SYSTEMS

%SilentGliss



GENERAL NOTES / —fi&f/ R FIR

Dimensions / ~1ZE&EFICDWT

- FRICTRENTVRIBEZIRE . RRESNTUVBEF(E mmEAIERDE T,

- RK kgld. $ER(CEANZ 7B - ([EMR) 2 ST T7 I W INEEERDET,

- 299994 X (Tele )& NIV ORISR & DR & (CRZEENE T,

- HEBEINZH—FTARNSERECOIEBEGFEHLDSS): 10 mm

- SATLDEE (B) mRETZHE. A, RURLOBEESTENSR/IMEOEEZERL TILE,

Fitting / 8%&ICDWT
- BH0IEBEZ BT I A CL DR BEZHBDHLET .

- I35y MAOKELEUFIIAIE /B RS ME, BUG T T, AT LAOEE, A0, RS OEH, BEVCLOTRBNET . &
BRBCREZINTVSRSEAM THATY.

- HEOOVTIE, ZEUT I FHOIRRCBUR S RZER I IHENHDFT .
- L=V EBBICUY T (ZREER) WD ima . BRERRAICECEL TS IHETS,
- BEERMOMRIRIE, BEARREUIMAFEAORECHE > TITROTIZE L,

Child Safety / FHOEZICOWVT
- Silent GlissZG@(EFRMAAEDEN 13120(CHERLTVET

2 %SilentGliss



APPLICATION CHART

15

23

29

AT L

SG 2700

SG 2710

SG 2730

SG 2750

E 2k S
= S-L
f%) S-L
= S-L
(D S-L

%SilentGliss

4— max.—

2 kg

2 kg

2 kg

2 kg



%SilentGliss



SG 2700

PRODUCT INFORMATION / ®&RiEHR

- K FEIEERME

- REEEHE: S(AE-) — L(5-2)

- BEEE XA [EEE. VX (1EhiAdh)

- h5—: W= RIAb

- P YALY NMURTF TV 330 % CSHRIZEVN BBEERNSD
SaEMESRFVLET

Features / ¥5#4:

- 2C0->—%#%H

- BHEMNESKAL-ZARETEZIFEHEENTT

= D77 ST - T CCRIED I ERNE S

= JCRINEEIE A T (IR ALK ) £ D51 T (B BIRIE) N SEIRTEE T

05/2024/V1 %SilentGliss




SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

B. PROFILE / L=

L—IViEER

T
4— max.— max. k
: g..
NIV TV=54T - 4m BAXE=.2kg/ m
L—IVHE5RE]BE %) CRILIEED
NI SEIESALT
6m
2 50 68 86
~ " I —
A - oy 9 1
Jz T iz it ]z et et W2 B B
T L 18 i 18| P18 i 18 i 18| B L
SG 10122 SG 10123 SG 10124 SG 10125
L—JL 2 ch L= 3 ch L—JL 4 ch L =)l 5¢ch XB9 ST
o
39 57 75 9
i — — ——
i —1 i — — - 5 3
2 21 S E 2 L3 A 2 3
\ B y \B 3 \ 5 v | 13 |
58 « 77 , < 95 o
SG 10172 SG 10173 SG 10174 SG 10175

JEZL =)L 2 ch XiBIMER

ZHtm

UL =)L 3 ch XiBIMER
ZHtm

7 8
f T
20 37
SG 2004 SG 10230
NIV 7I=FrT

%SilentGliss

DEZL =)L 4 ch %BIER

ZHtm

UL =)L 5 ch XBIMER
ZHtm

SG 2700



C. HOW TO A A: BEIE
MEASURE / | | B; Batimc
MEASURE /. y C: N—FARNBERETOEE
AT 7

-

JSRIVDTE

A: KRIVDOHESREERHE: 500 - 1200

BT :
A NI TNOHEREEFH: 500 - 1200

B: #—I\—5v7: 80 (FE#AH#E) X 50 - 100

\

FITTING / EE&EH

A. FITTING SHRAREREIBIRICOVTE. HHABSHVEHEE
INFORMATION /  &\%
ek

7‘57\\} hﬁo)mg 100 max. 800 .. max. 800 - 100

-

[] ]
* HARTIE max. 500 mm ERDFET,

B. CEILING h5vF  SG 10122 SG 10123 SG 10124 SG 10125
FITTING / / 56 3004 X

%#E&hl_ ﬁ SG 3003 X X X
== W FJ il

95\/7 - min. 45
SG 3003 /
SG 3004

CERRIBECEDEEEMIGREZEV

SG 2700 %SilentGliss



66 (‘ 8 ¢
< =
O o

SG 3003 SG 3004
93> 9557

T35vh - T5vh SG 10122  SG 10123  SG 10124

SG 10136/ / SG 10136 X

SG 10137 SG 10137 X X
ﬁm ﬁ 3

SG 10136 SG 10137
T3yb I3yb
» .
C. WALL FITTING / / i’ga_rlf;?:éx mm X mm X mm X mm
IEE S uﬁﬁw T T 2 ?7 (G 10122)(SG 10123)(SG 10124)(SG 10125)
S SG 11200/
A —NT4vHZ | s6 11210 - ” ~
(B2 R) -« X Zg ﬁ;?j ‘63 44 44 44
Z3—KI495Zyh SG 11200 - SG 11204: gg 102 /g3 64 64 64
J54yh SG 10136 & L—) 2 ch EESTEIE
J549h SG 10137 & L—)b 3 - 5 ch o203 e 84 84
WEBEGR RILNKS SG 10395 (M4x6) 12077
SG 11214 133 114 114 114

SG 11156 172-201  154-182 154-182 154-182

7

X

7z

ZOIFAI— NIty Yk SG 11210 -
SG 11214:

754y SG 10136 & L—JL 2 ch
J54yh SG 10137 & L—JL 3 - 5 ¢ch
DB RILNES SG 10395 (M4x6)

ML
8 ~& SilentGliss SG 2700



D. RECESS
FITTING /
JEZT49F74>Y

UeAL-) -

SG 10172 -
SG 10175

SG 2700

N\

7

1= —HIAY—RIwIAYs SG 11156:
J545yh SG 10136 & L—JL 2 ch

J54vh SG 10137 & L—JL 3 -5ch
MBI MILNRS SG 10492 (M4x8)

B N (1) \ \
307> N M
>
Ny 24
N
SG 10136 SG 10137 SG 10395 SG 10492
I35k J3yk +FARILRRS M4x6 +F RNV RRS M4x8
P oS N T
80 S 100 s 120 >
/ < /
AR A A 2
{ 16{ \Y %{ \'
SG 11200 SG 11201 SG 11202 SG 11203

AN—=NJ4wIZyh 60 mm

T

AN—=RI1wI Xty 80 mm

AN—NJ1wIXyh 100

AN—NJ1wIRtyhk 120
mm

150 7 i }\\ < RS 100/\ x>
o<y <3 < “29
&2 o No< A S
< J o
16
SG 11204 SG 11210 SG 11211 SG 11212

AX—=hI19IAzyh 150
m

=3

ADIT AN =TI Aty b
60 mm

ADIT AR —bJ1wI Xty bk
80 mm

120/\ 150 »\\s
< \' \' 200 \A
< 29 29 \6'2
a
o % / \‘11
NS
SG 11213 SG 11214 SG 11156

VORI EE ISP W
120 mm

AIIT AN —RI4wI X2y b
150 mm

YIv>SG 10157(E500mn(C1ERE.
SEHRERBEBIRICOVTIE. HEABBWEHECZE

(AN

%SilentGliss

IAZN=HYILAN—=IT19IR
vk 200 mm

ADIT AN =TI Aty b
100 mm



- /,\5 /5‘ 39 57 75
A 1 A A i —
</ 22 21 22 21 22 21
18A5/ 58 77 < 95 o
v

SG 10157 SG 10172 SG 10173 SG 10174

UIyd MBS RS @ UEAL =)L 2 ch %B5MER UEAL—=)L 3 ch XBIER  YEZL—-)L 4 ch XBHHER
FHtm FHtEm FHem

SG 10175
JEZL =)L 5 ch XiBSMER

HEm

SYSTEM OPTIONS / S AFLATSa>

A. OPERATION /

1F

10

%SilentGliss

IEIDITV=94T (Z)IFRIOF I EERNIRIE)

NRIVDEFETAT (REE(LAR RO—-OyRICEBIRME)

xpO-0Ovk = JTh>

SG 2700



B. PANEL
STACKING
(CONNECTED) /

I RIVDRTeHR
(ERS1T)

SG 2700

—

SIIWAEYY [ FEEFRINDLHR
x . @EN=EESN/RIL

RTA5y7 / mAEmAIADLRIZH
x . @EN=EESN/RIL

LRI -2a N A]EE T Y, SHRIBERICDOWVT
(F. HBHABBOWEDEZE,

%SilentGliss



PARTS / 5Bam

A. STANDARD PARTS / BR#E8Bam

B. OPTIONAL PARTS / A7>3 8B

SG 3003 SG 10230 SG 2004
o Koy 7557 =T RILI T
SG 3004 SG 10252 SG 2539
n5>7 TS RA— LIk 57
= o
SG 10122 SG 10253 SG 3008
iiﬁ -l 2 ch TORIA— 54K RIS TS
SG 10123 SG 10432 SG 3605
ﬁfﬁ} L—JL 3 ch / JUR> 100 cm I RAN—
SG 10124 SG 10434 SG 6024
L—JL 4 ch / KF> 150 cm RIS T IS
SG 10140 SG 10074
SO0 TSRS Max8
SG 10142 SG 10125
TS RA— L—Jl 5¢ch % B ERE B &
SG 10143 SG 10136
TS RA— LTS
SG 10144 SG 10137
ToRA— eSS
SG 10146 SG 10145
7SO0 TS RI— X BIEE R
SG 10148 SG 10157

RO-OyR7ALyhk

SG 10156

IVRRANT

SG 10159

+P33%T 3.5x13

SG 10200

2C0-3—

%SilentGliss

DIv> *BIEFE LM

5G 10172

'JDtZI/—)I/ 2 ch XBYIEE

oo

SG 10173
]’ VEAL-) 3 ch X BSMRE Y
oo
SG 10174
’ VAL -l 4 ch X BIEREY

oo

SG 2700



SG 10175

'étZI/—JI/ 5 ch XBHEE

oo

\

SG 11212

AIIFAR—bT4vIAzyb 100
mm

SG 10340

TIHAT RO-0YR7ALw

Ve
W
LY

SG 11213

AIDLITAR—RNI19IAzwh 120
mm

SG 10395

+FRRIVIRS M4x6

¢

=

=

SG 11214

AT TP AR —bT4vIAzyb 150
mm

SG 10492

+FARILBRS M4x8

SG 11127

YIMILIRS M4x10

SG 11156

IZN=HIAX—=RI1wI Xty b
200 mm

SG 11158

YIRIVIRS M4x12

SG 11200

AN—=NI4wIXZy s 60 mm

D

SG 11201

AN —=RJ4wH Xy 80 mm

¥

SG 11202

AN—=NJ4wI Xy 100 mm

AWA

SG 11203

AN—=RJ4wH 2y 120 mm

SG 11204

AN—=NJ4wI Xy 150 mm

SG 11210

AIITPAI =TI Aty h 60
mm

/7
I\
[

SG 11211

ADIT AN —RI4wIXyh 80
mm

%SilentGliss

13



14

%SilentGliss



SG 2710

D!

PRODUCT INFORMATION / ®&RiEHk

- #EF: HBIERME

- REEEHE: S(AE-) — L(5-2)

- BEEE XA, [EEE. VX (1EhiAdh)

- h5—: W= RIAb

- TP YALY NMURTF TV I3 % SSHRIZEVN BBEERNSD
SHaEMESRFVLET

Features / ¥5#4:

- 2C0->—%#%H

- BN TAL—XRETMHE

= D77 ST - T CCRIED I ERNE S
- FE AV R ETERERL RIRBICEGUET

05/2024/V1 %SilentGliss

15



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

B. PROFILE / L =)L

L—IViEER

C.HOW TO
MEASURE /
BIEFSZE

16

1 k
4— max.— max. g
l max.
6m 4 m BARES. 2kg/ m
XICRILIFED
50 68 86 57
BE— D———— n—
19 19
' ' ' ! ' v_ J

rat it it it [rcat it ' 7
Sl L 2 L AN

i 18 1 18 i P18 1 18 i 18 i >
SG 10123 SG 10124 SG 10125 SG 10173
L—JL 3 ch L)L 4 ch L—JL 5ch XBorEREE UEZL—Jb 3 ch %EHMER

= HER
75 93 7 8
" —— e

A_ﬁﬁ £ 3
22 _2V1 V. y f
L‘ 5 ‘ [ 13 >

~ > 20 37
SG 10174 SG 10175 SG 2004 SG 10230
UEZL—)L 4 ch XBSER UEAL—IL 5 ch 3B RRLK— FILIFPUT

Ztm

Ztm

@

o

..

!

%SilentGliss

1] O h=
iR

) O =
%DDIE

BF1-RRE

A:
B:
C: =7 BNBREFTOES
D:
E:

£—JF7UF1F~ SG 10731 BRHBOR/NEE

150 cm

SG 2710



JSRIVDTE

FITTING /

FHRFREBRICOVTIE. SHASBEVEDELE

A. FITTING
INFORMATION /

=L T

I3y NEDAIE

B. CEILING
FITTING /
KFHFESE

75> - SG 3003

SG 2710

53¢ 1B S

(AN

100 max. 800 max. 800

.
A

l

* HATIE max. 500 mm £R20DF,

e

(nipin | inin
Sl

min. 45

CIERBRECADRIERRICRETE

66 r
@
O

SG 3003

~

93>

%SilentGliss

A: JSRIVTHOMERREEE : 500 - 1200
B: A—)\—3v7: 80 (E#(t#%) X 50 - 100



T35vh -
SG 10137

C. WALL FITTING /

IEMAEEERE

AN—=RI1YIR
(FEhER)

18

e

CERRRICEDEERSEREIEL)

AX—NJ4wI2tyh SG 11200 - SG 11204 & 7
3oyhk SG 10137:
MHEEG NILMRS SG 10395 (M4x6)

N\

7z

AI)I7ARI—RI199Azyh SG 11210 -
SG 11214 & JF3%vh SG 10137:
WHEEBG NILMRS SG 10395 (M4x6)

N\

7

A= NR=YIVAR - I19IAYyh SG 11156 & 75
vk SG 10137:
MHEEG NILMRS SG 10492 (M4x8)

PErrN SG 10123 SG 10124

SG 10137 X X

Smart Fix/ A X mm X mm X mm
X—hJ1vHRX (SG 10123) (SG 10124) (SG 10125)
SG 11200/

SG 11210 24 24 24

SG 11201/

SG 11211 4 4 ad

SG 11202 /

SG 11212 64 64 64

SG 11203/

SG 11213 84 84 84

SG 11204 /

SG 11214 114 114 114

SG 11156 154 - 182 154 - 182 154 - 182

A

SG 10137 SG 10395
J3yh +F RNV RRD M4x6

%SilentGliss

SG 10492

+F NIRRT M4x8

SG 11200
AX—=hJ4wIZvh 60 mm

SG 2710



D. RECESS
FITTING /
VR T49T42

A=) -

SG 10172 -
SG 10175

SG 2710

o~ N o /\
80 S 100 S 120 S o
& / 150
g ~y %{ Y S ~
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN—=NJ4wIZZYyh 80 mm

AN—=RJ1wIAtyhk 100

AN—=NIJ1wIRyh 120

AN—=NJ1wIAtyhk 150

{)\v <80 Y o B Ty B SNy

*16/ )5 \16/29 529 <29
o Ne<

SG 11210 SG 11211 SG 11212 SG 11213

VORI EE ISP W
60 mm

ADIT AN —RI4wI X2y b
80 mm

- ’\ /\
/sl 200 \A
29 / \6v2
Ne< N
NS

SG 11214 SG 11156
ADITAR—RNT4wh 2y 1IZN-BIAX—RT4vIR
150 mm vk 200 mm

D1y SG 10157(F500mm(C 1 {EE%E

VORI EE ISP W
100 mm

ADIT AR —RI4wI Xty b
120 mm

FHRREEBRICOOVTE, HHABREVEDECES
(AN
A5 57 75 %
— — ——
w2 - — - — i 2
& 22 7 22 a % 7
'Y Lu*J Y 95 ‘_Y < 3 >
18.5 - -
v
SG 10157 SG 10173 SG 10174 SG 10175

DIv> XBIEEEm

JEZL =)L 3 ch XBIMER

BHEm

%SilentGliss

DEZL =)L 4 ch *BIMER

HEm

JEZL =)L 5 ch XBIMER

HEm

19



SYSTEM OPTIONS / AT LATZ 3>

A. PANEL —_—
STACKING
(CONNECTED) /  S>N25Y) / FEAEHRINDRTH4
JCRIDIT=dME ¥ - @EI=EESN/\RIL

RPR5YY) / mREmAINDLIZHR
x  @EN=EE2Nns/(RIL

ZRRI\UI-23a> W eIRET Y, FHlRIBIRICOVT
(F HBHABBVEDEZZ,

ML
20 ~& SilentGliss SG 2710



PARTS / &5Bam

A. STANDARD PARTS / #Z=#2Pm B. OPTIONAL PARTS / A>3 &b &
SG 10252 SG 2004
IORIN— LIK RRA/—
SG 10253 SG 2539
IYRIN— SOK F—7
SG 3605 S ‘ 9 SG 10731 SG 3340
I RAN— M / FrAIRE—TF4 UF(F—tyh F233>IIAR
‘>
SG 10123 SG 6024
L—Jl 3 ch T axy3yay I
SG 10124 SG 10074
L—JL 4 ch +HSRIL RS M4x8
SG 10140 SG 10125
790 L—Jl 5ch B BRSESR
SG 10146 SG 10137
739 JI559k
SG 10150 SG 10155
NAOyRs>F— J-RAAR
SG 10153 SG 10157
J-RAAR 1YY SENESER
SG 10154 SG 10173
J-RAAR J7 L veRL-w 3 ch xomsiEmEt
on
SG 10156 SG 10174
IVRA NS ] EAL - 4 ch X BINERE Y
on
SG 10159 SG 10175
+H5%3 3.5x 13 L UEAL-IL 5 ch xiBSEREE
on
SG 10200 SG 10395
2C 0-3— + NIRRT M4x6
SG 10230 SG 10492
TIIFPUT +FAIRIL RS MAx8

ML
SG 2710 ~& SilentGliss 21



SG 11156

IAZN=HIAY =R I4wI Aty
200 mm

SG 11158
BIMIL RS M4x12

SG 11200
AN—=RI1wI Xty 60 mm

AYE

SG 11201
AN—=hJ1wI Xty 80 mm

SG 11202
AN—=RI1wH Xty 100 mm

SG 11203
AN—=NI1wI Xty 120 mm

SG 11204
AN—=NI4wH Xty 150 mm

SG 11210

ADITAN—I1wIXtzyhk 60
mm

SG 11211

AIIFAI—bT1vIAzy b 80
mm

SG 11212

ADITAN—RI1wI Xty 100
mm

SG 11213

ADIT AN —RI4wIAt2yh 120
mm

SG 11214

ADITAN—RI1wI Xy 150
mm

N
N

%SilentGliss

SG 2710



SG 2730

FLEX

PRODUCT INFORMATION / ®&RiEHR

- K FEIEERME

- REEEHE: S(AE-) — L(5-2)

- BEEE: XA, [FEmE

- h5—: W= RIAb

- P YALY NMURTF TV 330 % CSHRIZEVN BBEERNSD
SaEMESRFVLET

Features / ¥5#4:

- 2C0->—%#%H

- BN TAL—XRETMHE

= NS T —H41 T (BBIRIE) EBAESA T (R EEAAR)NDIBIRTEET
- ARSI RI-RAICEIEZ 2. IVFSTNRA—-TRIEDICRILITFA R

05/2024/V1 %SilentGliss

23



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

B. PROFILE / L=

L—=ILER—THNID
&R

C.HOW TO
MEASURE /
RIETTZE

24

4— max.—

NIV TV=54T -
L—IVHE5RE]BE
IRV SEEESALT
6m

32

e

49

kg

BARES. 2kg/ m
X)CRILIRED

) [ ) [ LT
CrH { CL /L H = 23
23 ) 23 ‘ ‘i
N 1 gy 1 |
JﬁZ J|i2 B 18 i 18 ]
Lo18 | 18 1 18 !
SG 10132 SG 10133 SG 10134 SG 10135
L—IJl 2ch L—Jl 3ch L=l 4ch L—Jl 5ch
FRR: EEN FRR: EEN

v 17 cm *L =LA
>30 cm

v 17 cm *L—)LAAI
>30 cm

SG 10179
ST

SG 10180
ILFSTHvU7

7

-

Z

%SilentGliss

v 17 cm *L—)LAR
>30 cm

v 17 cm *L—=)LAfEI
>30 cm

SG 2730



JSRIVDTE

FITTING /

A. FITTING
INFORMATION /
=L T

I3y NEDAIE

B. CEILING
FITTING /
KFHFESE

Bt ERE

C. WALL FITTING /

IFHEEERE

AN—RI199R
(FhRhER)

SG 2730

=547 / ERIRIE:
A: JSRIVTDOHESREER: 510 - 1210

EAEIL S :
A INRIVTNOHEREEFH: 510 - 1210
B: A—)\=35v7: 110 ({Z#4t%x)

=JL ﬁ"' =

sy 1= 0
FHAREBRCOVTE. SHABEVEDHEE
AN
100 max. 800 max. 800 100

L] []
* HATIE max. 500 mm £R20F,

7/%
i

X =min. 27 mm
CERRECEDEIEEMGEREZEV

4

7
/ Ii;j'-;?—x mm Xmm X mm X mm
(SG 10132)(SG 10133)(SG 10134)(SG 10135)
oo NI4YDX

‘o

SG 11156182-210 164-192 146-174

128-156

1=/C-HIAR—RI1vIRtYh SG 11156 & ZAOY
Nryk SG 10160:
REES +RILNES SG 10395 (M4x6)

%SilentGliss

25



B Q £

< - 200 \6‘2
\\Y/ / S N
1
NS
SG 10160 SG 11131 SG 11156
A0vhFyh +F RN RRSD T5O24F IZN=HIAI—RIT(vIR
M4x6 yh 200 mm

SYSTEM OPTIONS / AT LATZ 3>

A. OPERATION / JCRINDI—54T (& )SRIVOF S| SEBIIEIE)
RE
BIREAATO) ) (R RO-0YRCELDIRE)
XRO-OvR = JUh>
B. PANEL —
STACKING

(CONNECTED) /  ¥>JNR59 / FrRISFRIADREHE
SRRVOREBE B+ @ E=BEES L

#5914

ML
26 ~& SilentGliss SG 2730



SG 2730

RPZHY7 / mFEEERIADRZHK
x . @EN=EEIN/RIL

2RI -3 N AIEETY . FFHlREIRICOVT
(& HEABEVEDETZE,

%SilentGliss

27



PARTS / 5Bam

A. STANDARD PARTS / BR#E8Bam

B. OPTIONAL PARTS / A7>3 8B

SG 10132 SG 10196 SG 10160
"ﬁ L—JL 2ch INSSZTETS 20y Ry

SG 10133 SG 10200 SG 10177

"'ﬁ"'ﬁ L—JL 3ch 2C O0-35— R332 Ty
SG 10134 SG 10233 SG 10281
ﬁ%ﬁ%ﬁ L—JL 4ch H—7>9I4~ 100g/m AERILIRS Max6

SG 10135 SG 10237 SG 10395

L—JL 5ch DTG — FFRFIIES MIx6

SG 10156 SG 10239 SG 11156

I>RZNT 72 LI T e ST ]S

200 mm

SG 10159 SG 10241

+H5%3 3.5x 13 729 54k

SG 10162 SG 10243

I>RHN— 7350

SG 10163 SG 10244

I RDN— 25149—

SG 10164 SG 10432

I RAN— / )R> 100 cm

SG 10165 SG 10434

TS ER— / N> 150 cm

SG 10167

2T LI

SG 10168

DT SA K

SG 10179

DEEMI S

SG 10180

ILESTHvIT

%SilentGliss

SG 2730



SG 2750

PRODUCT INFORMATION / ®&RiEHR

- R BENRF

- REEEHE: S(AE-) — L(5-2)

- B XAHLOH

- h5—: W= RIAb

- P YALY NMURTF TV 330 % CSHRIZEVN BBEERNSD
SaEMESRFVLET

Features / ¥5#4:

- 2C0->—%#%H

- BN TAL—XRETMHE

= D77 ST - T CCRIED I ERNE S

- BEIN—FT>MIYIS AT L SG 5600 SIS ETEMELET

05/2024/V1 %SilentGliss

29



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

B. PROFILE / L =)L

L—IViEER

C. HOW TO
MEASURE /
AT

30

T
4— max.— max. k
; g..
6m 4m BARES. 2kg/ m
% )R IR0
50 68 86
2 oy ’l—|‘
A -4 2 I Sy 2
Jia o JHS s
i 18 i 18 P18 i 18 1 18 i
SG 10123 SG 10124 SG 10125 SG 2004
L=l 3 ch L=l 4 ch L=l 5ch B EEE NNLI—
i
T 8
37
SG 10230
TIVZFP)7

7

-

Z

%SilentGliss

]ﬂ} o

&

D
73 FTURENBRETOES

SG 2750



JSRIVD~T i A: KRIVMOHEREEE: 500 - 1200
B: A—N\—3v7: 80 (E#eft4%) 3 50 - 100

FITTING / s2EEEH

A. FITTING SIRRBIBRCOVTE. YHABEVAHET
INFORMATION / &L
RESHIEER

j‘ab-\y hﬁo)ﬁlﬁ 100 - max. 800 - max. 800 . 100

L] l
* HATIE max. 500 mm £R20DF,

B. CEILING 7/

FITTING /

- —‘Jﬂ
SG 5600 tDfEEE <m_6o,L_J

CIEARRICEDBIZEFRGRE TS

38
66 > =
.. Loy O
==
SG 3003 SG 3004
93527 93>7

SG 2750 %SilentGliss



SYSTEM OPTIONS / AT LATZ 3>

A. MOTORISATION

[EAHIE-33>

B. PANEL
STACKING /
KRIOEERHN

32

/ 63

$G 10230

SG10958/
SG 10959

SG 5600tDEEE

- 2PN AYY (FRIELAR): FYUTA -
SG 10958
- RP2Hv) ([ERIE): FvUFA - SG 10958 / F+v
U7B - SG 10959
SEICOVWTIE, BEN—T> havhsndESIEL T
20,

SUINREYY ) FRERRINDRIEH
x  @EN=FEENns/(RIL

RPZ5v7 / EFEEEAIADRH
x  @EN=EEsN/(RIL

ZRRINI-23 N aJgETY . SFHRIBIRICONT
(F BHABEVEDEZE,

%SilentGliss

SG 2750



PARTS / &5Bam

A. STANDARD PARTS / #Z=#2Pm B. OPTIONAL PARTS / A>3 &b &
SG 3003 SG 10253 SG 2004
H5>7 IRNN— SAK RRLN—
SG 3004 SG 10958 SG 2539
5 5557 IO NS KFILF T F—F
—_——r :
SG 3605 SG 10959 SG 6024
I>RAN— ILoOYy sy IKRILFUT REG VIS
B
SG 10123 SG 10125
L—=JL 3 ch ¥ E] L—b 5ch <@ RS m
SG 10124 SG 10145
L—)L 4 ch IVRIN- XEIREER
SG 10140
7290
SG 10143
I>RAN-
SG 10144
IVRAN=
SG 10146
7290
SG 10156
IVRZMS
SG 10159

+9353%2 3.5x13

SG 10200
2C0-3—

SG 10230
PIZFPUT

SG 10252
IVRAN= LIk

SG 2750 %SilentGliss



%SilentGliss



%SilentGliss



The Architects of Silence

Silent Gliss is the leading global supplier of premium
interior window treatments. Since 1952 we have
been tirelessly committed to the development of the
world's smoothest, quietest systems using state of
the art technology.

Driven by customer needs, Silent Gliss offers
functional and durable products. Expert technical
advice coupled with installation and support services
complete the offer. Silent Gliss stands for
innovative, sustainable, tailor made solutions,
exceptional design and first-class quality.

Silent Gliss Corporation

4F Sanko Bldg.

9-9 Yotsuyasakamachi,
Shinjuku-ku

160-0002 Tokyo

Japan

T Tokyo 03 3350 4809

T Osaka 06 6626 2810
salestokyo@silentgliss.co.jp
salesosaka@silentgliss.co.jp

silentgliss.co.jp



	 Panel GlideSystems
	 General Notes / 一般的な注意事項 
	Application Chart

	SG 2700
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10122
	SG 10123
	SG 10124
	SG 10125
	SG 10172
	SG 10173
	SG 10174
	SG 10175
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3003 / SG 3004
	SG 3003
	SG 3004

	ブラケット - SG 10136 / SG 10137
	SG 10136
	SG 10137


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10136
	SG 10137
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156


	 Recess fitting / リセスフィッティング 
	リセスレール - SG 10172 - SG 10175
	SG 10157
	SG 10172
	SG 10173
	SG 10174
	SG 10175



	 System Options / システムオプション 
	 Operation / 操作 
	 Panel stacking (connected) / パ ネルのたたみ代 (連結タイプ) 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2710
	 Product information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10123
	SG 10124
	SG 10125
	SG 10173
	SG 10174
	SG 10175
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3003 
	SG 3003

	ブラケット - SG 10137
	SG 10137


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10137
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156


	 Recess fitting / リセスフィッティング 
	リセスレール - SG 10172 - SG 10175
	SG 10157
	SG 10173
	SG 10174
	SG 10175



	 System Options / システムオプション 
	 Panel stacking (CONNECTED) / パネルのたたみ代 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2730
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールとカーブ加工の情報
	SG 10132
	SG 10133
	SG 10134
	SG 10135
	SG 10179
	SG 10180


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	直付け設置

	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10160
	SG 11131
	SG 11156



	 System Options / システムオプション 
	 Operation / 操作 
	 Panel stacking (connected) / パネルのたたみ代 (連結タイプ) 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2750
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10123
	SG 10124
	SG 10125
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	SG 5600 との組合せ
	SG 3003
	SG 3004



	 System Options / システムオプション 
	 Motorisation / モータリゼーション 
	 Panel stacking / パネルのたたみ代 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 
	The Architects of Silence




